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1.

Write all Nos. in English only

Verifiy the roll number Printed on your OMR Sheet
with the roll number given in your admission card.

If your roll number is not Printed on OMR Sheet
with the roll number on blank space provided on
the sheet. Write one digit on one block.

Do not write anything else on the question paper,
in any case do not mark answer on the question
paper.

There are 75 questions in this paper. All the
questions are compulsory. Each question car-
ries one mark.

In this question paper question number 1 to 25,
26 to 50 and 51 to 75 are respectively alloted
for Physics, Chemistry and Biology.

Serial Nos. of all the question are written on the
answer sheet. In front of these blankes probable
answer are given and the circle of right Answer
arount it. '

Example (&) @ © (Cis comect Ans.)

Mark answer on OMR Answer sheet given

separately.

A blank sheet is enclosed at the end for rough
work., do not tear sheet off from the qustion paper.

Handing over of the Answer Sheet, to the
invigilator, is compulsory after the examination.

Candidate can cary question paper with
themselves. :
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H.2.

Mifiied o=t (PHYSICS)
(SCIENCE QUIZ COMPETITION)

. = 9 4 o @ ARk oY A Q.1. Which of the following pairs of
- e w - physical quantities have the same
‘dimensions-
() @ AR wfe (A), Work and power
(B) vl alx &t \,(EK Energy and work
(C) 94T ud & (C) Momentum and velocity
(D) w1 T i (D) Force and Power
N A NS EHBIARAIEHT Q.2. In a Barometer the downfall of
T Mercury column indicates-
(A) TP DI (A) Storm
(B) asi &1 (B) Rainfall
(C) g AwH E& (C) Dry weather
(D) T ¥ @IE & (D) None of these
. Gl & T B BifE - Q.3. Order of mass of Earth is-
(A) 107 gm o (A) 107 gm
B) 102gm (B) A10%gm
(C) 10%gm (€) 102gm
(D) 10%gm (D) 10*gm

. €l U did®] &) WMEeRN) Fae Q.4. The effective length of two simple

WA ¥ fg 91 wewH e 50 pendulums i:oequa_i :u:ot:elr
' an

mwﬂ i S v :::Piﬂesi\f:; The?:The ratio of thger::'

= BHIE time peirods is-

(A) 1:1 (A 1:1

B) 1:2 B) 1:2

o M X, Y © 2:1

(D) 1:4 D) 1:4



W.5. 1.5 aadie O o § wwrer @ Q.5. Speed of light in a glass medium

oA 2x 10°N/H. ¥ IR s aa
TS P A 25 x10° NA . ¥l w=y
B AYGAID BT

(A) 064
(B) 0.80
(C) 1.20
(D) 1.60

AT T RERE-

(A) 1 SE-gaim
L
e
© 1 %ol
Syl
(D) STH A BE 78

. TP A1 IR Bl T_IE WEHS A Q7.

X ¥ a9 su A wfriy |
ol |
(A) 3T

(B) amenm

(C) ftafda

(D) ¥7H ¥ +E &

of R.l. 1.5is 2 x 10® m/sec where as
in other liquid the speed of light is
2.5 x 10° m/sec. The R.l. of liquid
will be-

(A) 0O.64

(B) 0.80

(C) 1.20

(D) 1.60

. 1 volt is equal to-

(A) 1 Joule-Coulomb
(B) 1 Joule

Coulomb
(C) 1 Coulomb
Joule . -

(D) None of these =

If the length of a conducting wire

is doubled then its specific

resistance will be-

(A) Doubled

(B) Halved

(C) Remain unchanged

(D) None of these



H.8.

Ry &1 el T WRRI ¥

3..0-'_,,/Q4, L1
60— "

A

R L

H.10.

C
T L
B2

50
3IQ
2Q
2Q

(A)
(B)
(C)
©)

. gf fadl avg @1 Y@ T 50%

g1 i oY ww i st A gfy
e

(A) 50%

(B) 100%

(C) 125%

(D) 25%

ofe gut & Prow a1 1% wer
T AT SHP! T AYRafdd @
A R vl ¥ aRE B

1% &G &M
2% &G SEAM
1% S Sa
2% S ST

(A)
(B)
©
(D)

Q.8.

3~

Q.9.

The effective resistance of the
circuitis-

(1

G O —

(A)
(B)
(©)
(D)

5Q
IQ
20
12 Q

If the linear momentum of any
body is increased by 50% then the
increase in kinetic energy will be-
(A) 50%

(B) 100%

(C) 125%

(D) 25%

Q. 10.1f the radius of Earth were to

decrease by 1%. its mass remaining
the same, the acceleratron due to
gravity on the Earth surface will be-

JA)" Increase by 1%

(B) Increase by 2%
(C) Decrease by 1%
(D) Decrease by 2%



H.11.

".12.

".13.

H.14.

H.15.

eire freul ARl ¥

(A) T 31w

(B) H AR BV BT T
(C) IR Hull o1
(D) fga gaem X

Q.11.

Cath_ode rays are -
&)
(B)

Stream of electrons

Stream of positively

Charged particles.

Stream of uncharged particles,

(©)
(D)

Electromagnetic waves

T A 5w D vl ) Sors =8 é.12. Which of the following physical

A
(A =a

B) T

(C) Hui

(D) smifErs T
wfeafy o1 aro -
(A) @& & wREde
(B) @& & 3rygaH
C) sIgme

(D) T & PIg &
ol =1 form amenRa B—
(A) ST BT &Y
(B) SoHHM T L&
(C) EAM = &Y
(D) eI =l I
ST YO <5 ATl et A oI Tl
a9l fevor & o atraas aor &1
A BT

(A) 45°

(B) 90°

(C) O

(D) 180°

Q. 13.

Q.14.

Q. 15.

quantity has no uhit-
(A) Density ‘
(B) Pressure

(C)
D)

Energy
Relative density

Echo is produced due to-
(A)
(B)
(©)
(D)

Reflection of sound
Refraction of sound
Resonance
None of these

Lenz’s law is based on-
(A)
(B)
(©)
(D)

Conservation of charge
Conservation of mass
Conservation of momentum
Conservation of energy

The angle of incidence for a 'Iight-
ray passing thurough the centre of
curvature of a concave mirror is-
(A) 45°

(B) 90°

C) o

(D) 180°

M A



.16 . e 1 1 sadis sf@am TE Q. 16. Which of the following colour has

".17.

H.18

H.19.

H.20.

T e e A R -

(A) &
(B) =1
(C) e
(D) S

Pyt et o g A ST
fafeam—

(A) a U
B) B ®u
©) x fo=m
() v U

. T TrEsrR A B i

(A) Ns>Np
(B) Ns<Np
(C) Ns=Np
(D) ¥ ¥ @I &

QY AT YOI T TP THY & WHICR
W R E, 375 R /g S T
Tt wfcifaa ot v 2Rl

(A) ©
B) 1
() 10
(D) s

fhaic—der sars &
(A) wfe ot

(B) <Hdw @

(C) Sul &t

(D) T

maximum R.l. and minimum wave
length-

(A) Red

(B) Green

(C) Yellow

(D) Violet

Q. 17. Which of the following radiation

suffers max deflection in a
magnetic field-
(A) a Particle
(8) B Particle
(C) x Rays
(D) y Particle

Q. 18. In a step-up trans former-

(A) Ns>Np

(B) Ns<Np

(C) Ns=Np

(D) None of these

Q. 19. Two plane mirrors are kept paraitel

to each other. An object is placed
between them No. of images -

formed by mirrors are-
(A O

B) 1

© 10

(D) Infinite

Q. 20. Kw-hris a unitof -

(A) Power

(B) Momentum
(C) Energy

(D) Velocity



-¥.21.

".22.

v.23

H.24,

H.25.

(A) el sfes® ywE
(B) Wfeemx wH@ -
(C) <IeR ¥9E

(D) gamfam |

uﬁqﬁmmmwﬁmmﬁm
3l W W Sl fea T 99
-

A 2

(B) 4

o E T

(D) 16

. T T ) R TR R R

SR fha 2l -

(A) O

(B) .1Cal/K
(C) 540 Cal/K
D) o

TS SAM 0.5 TR &) 4RT 6
a\awmm%lmwﬁs
P
(A
(B)
©)
) |
zierR fea Rigia ™ =/ &
¥

(A) TRads

(B) whms

(C) S =g IO

(D) TR

3 dic
12 dic
6 dic
15 dic

Q. 21. Ultra-sonic waves are produced

by-
(A)
(B)
(©)
(D)

Pizeau's electric effect
Peltier's effect
Doppler's effect
Coulomb’s Law

Q.22.1f the temperatdre of Sun is

 doubled then the energy recelved

by the Earth will be-
(A) 2times

(B) 4times

(C) 8times

(D) 16 times

Q. 23. What is the thermal capacity of one

gram water when it is at its boiling
point?-

(A) O

(B) 1Cal/K

(C) 540Cal/K

(D) oo

Q.24. A dynamo develops 0.5 ampere

current at 6 voits. The power
produced is-
A) 3wat V¢ /A
(B) 12 Watt |
(C) -6 Wait
(D) 15Watit

Q.25.A 'transfbrmer works on the

(D)

. principle of-

Convertor
Inverior

Mutual Induction
Self Induction

(A)
(B)

(€)



A IS (Chemistry)

¥.26. ﬁﬁﬁlﬁi‘ﬂﬁﬁﬁmﬂﬁ%— Q.26. Which of the following is not a

mixture- S
(A) B (A) Petrol -
(B) SN (B) Diesel
(C) = (C) Air
(D) VeprEiA \_(D} Alcohol
W27 . 3y i ey Y yarers ¥ Q.27. The non-metal which is a good
- conductor of electricity is-
(A) BIEPRE (A) Phosphorus
(B) HeHY ~ (B) Sulphur
©) FwEe (C) Graphite
(D) =1 (D) Diamond
W.28. % WA & @ F 12 gl a0 Q.28. An atom contains 12 neutrons and
MAAEIA AT TA T 11 protons in its nucleus. Number
Bl of electrons in atom will be-
A 11 A 11
B) iz B 12
() 23 (C) 23
(D) ot (D) o1
¥.29. Mg B 9RHIY WeA 12 AR O 8 Q.29. Atomic number of Mg is 12 and that

%mmmmwm—

of Ois 8, the bond formed between
them wiill be-

(A) TEESNA Y (A) Hydrogen bond ‘
- (B) - faga wAoh |y (B) Electrovalent bond

(C) wEddm §¢ (C) - Covalent bond

(D) SUHEHAN dY (D) Co-ordinate bond



¥.30.

H.31.

¥.32.

H.33

szmiﬁxzys%_.
X TN Y ) Haiorear Her: ahf-

(A) 133
(B) 331
© 23ks3
(O 332
0.5 Hid 3ifeioE 9 &1 aaguE
(9w ) grm-
(A 40T
(B) 80UM
(C) 16.0 7™
(D) 32.0 9™
frafafaa ¥ } 54 oqu &1 ol
faeras SeRMA Bm-
(A) NH,CI
(B) KCI -
(C) Na,CO,
(D) MgCl, .
- Sel Y ¥ATE BRI X B IR &
A)  EERY TF
(B) =ifdT USsY §
(C) d-Pae
(D)

@M & He ¥

Q.30.

Q.31.

Q.32.

Q.33.

The formula of a compound is XY, .
The valency of X and Y will be
respectively -

(A) 1and3

(B) 3and1i

(C) 2and3

(D) 3and2

Mass (in gram) of 0.5 mole of
oxygen gas is-

(A) 40g

(B) 8.0g

(C) 16.0g

(D) 32.0g

Aqueous solution of which of the
following salt in neutral -

(A) NHCI

(B) KCI

(©) Na,Co,

(D) MgCl,

Permanent hardness of water is
removed by- |

(A) Common salt

(B) Bleaching powder

(C) Washing soda

(D) Baking soda



'M.34 Y[ Gl 919 e PEe T

.35

H.36

H.317.

(A)
(B)
(€)
©)

o1y
ey
39 &g

S AN

%ﬁmaﬁ#ﬂﬁmmﬁm

Bl e

(A)
(B)
©)
(D)

-
(A)
(B)
©
(D)

CIRINES
CILE1
TN
FEAR

Freferfaa ¥ 9 @ W v ag ara
@ fovan A TSN T 9w By

Ag
Au
Al
Cu

1H 3R § Heqvem ¥

(A)
(B)
©
(O)

HAYGI®
NS
RS

SR W

Q.34. Elements having zei?o valency are
 called -. '
(A) Metals
(B) Non-metals
(C) Metalloids
(D) - Noble gases

Q.35. Highest electron affinity in

halogens is-
(A) lodine
(B) Bromine
(C) Fluorine
(D) Chlorine

Q.36. Which of the following element

gives hydrogen gas on reaction
with dilute acid-

(A) Ag

(B) Au

(C) Al

(D) Cu

Q37. 3H and 3He are-

~ (A) Isoneutronic
(B) Isotopic.
(C) Isobaric
(D) All of ai:ove



.38

¥.39

9.40

H.41.

H.42.

st g Qo S wes ¥-

Ay “'cu, sn .

(8) Cu, Al

(C) Zn,Sn

O) Cu,zn
RsammweRfaavare-

(A) TP B Seid foeq
(B) WM & QI &I Weld e
(C) - e &1 wer § e
(D) fRr®r
.mmmm%—
(AY ' CH,=CH, &I

(B) CH,=CHCI I

(C) '''C1CH, = CH,CI &

(D) Cl=C=CZCi®r
Freifeafas v ¥ e wE
2

(A) -OH

B) -0O-

(C) -Cco-

(D) - COOH
ﬁﬂﬁﬂhﬂﬁtmmﬁ%—
(A) KOH

(B) NH,OH

(C) C,H.OH

(D)

Ca(OH),

Q.38.

(B

Q.39.

Q.40.

Q.41.

Q.42.

« §@ -

Components of alloy Brass are-
(A) Cu, Sn
8) Cu, Al

Zn, Sn_

Cu, Zn

(&)
(D)

Tyndall effect is shown by-
- ®»

Aqueous solution of common salt
Aqueous solution of backing soda
Aqueous solution of starch

(B)
(C)
(D). Vinegar

Poly vinyl chioride isa polymer of-
(A) CH,=CH,

() CH,=CHCI

(C) CICH,-CH,CI

(D) cCi1-Cc=C-C1

Functional group' in carboxylic

acid is-

(A) -OH
B) -0-
(C) . -CO~-.

(D} - COOH |

_Which of the following is not a base-

KOH

NH,OH
C,H,OH
Ca(OH),

(A)
(B)
(€)
(>)



H.44

H.45

H.46

(D)

ELu fa

(A) e

(B) sUEEd

(C) fazemum

(D) fefdeamgs

SR 3R ergur < F Wy

. #R R8T . ‘
(A) AU A
A = —————

(B)  STUREA =n x JEURN L

(C) g A =nx AUREA
(D)  n="TEFIRT G / IR
Frferea # 3 fr sy Ry urn
S e~

(A N,

(8) cClI,

(C) CAH,

(D) ccl

4

e srwear e

(A) BF&R

(B) U gRI

(C) JUTHRIBT BRI
SRR N R

¥.43.CaC0,—2 Ca0+CO, SWRIB fFa1 - Q.43

Q.44.

(A)

(B)
©)
)

Q.45.

.ﬁaﬁ!ﬂvﬁﬂsﬂamﬁmw - Qus.

-11 -

CaCO; —2-5 Ca0+CO, The above
reaction is an example of-

(A)
(B)
(€)
(D)

Combination
Decomposition
Displacement

Double displacement

Relationship between molecular
formula and empirical formula is-

empirical formula

Molecular formula=
_ n

Molecular formula = n x empirical formula
Empirical formula=n x molecular formula

n = Empirical formula / molecular formula

Which of the following molecule
has double bond-

(A) N
(B)
(C)
(D)

2

CF,
C,H

2' 4

cot,
A mixture of water and mustard oil
can be separated by-

(A)
(B)
(©)
(D)

Filteration
Sublimation
Separating funnel
By all of the above



.47 .3 Rdaa AR B % PHAM B99:  Q.47. Two solutions A and B have PH

- W.48

W

H.49

H.50

6 1 8 ¥, o wophr S

(A) A &g, B A
®) A I, B &Y
(C) Awem B3R sy
(D) ATl B RN &N

TR S Y RaRfa M T @ Q.s.

m....

(A) e BN ®
B) THEAME

() = wRadw & B
(©) (A) 3R (B) A

-

N, + 0, == 2NO - 3™l
Frfofaa # | o @ WRRuf
NO o5t fdY 3rfirsp rf-

(A) 9 H g

B) HH B

(C) <E¥Hglg

(D) <& H T

.CO, @I mﬁaasm%—

A 12
B) 24
(C) 44
(D) 14

-12-

value 6 and 8 respectively, their
nature will be--

(A) A basic, B acidic

(B) A acidic, B basic

(C) Aand B both acidic

(D) ‘A and B both basic

When \;ater solidifies to ice, then .
heat is-

(A)  Absorbed
(B) Evolved

-(C) No change

(D) Both (A) and (B)

Q.49. Reaction-
N, + O, ==2NO - Heat

Which of the following condition is
suitable to get a good yield of No-
(A) Increasein temperature

(B) Decrease in temperature

(C) Increase in pressure

(D) Decrease in pressure

Q.50. The molecular mass of CO, is-

A 12

B) 24 ",
©) 44 &,
D) 14



¥.51.

H.52.

M R (Biology)

TR WA AR TR TRERaR
AN E = > dow A
FrafeRaa T AR sifsm S e
R G BT HHdl B

(A) FEERSE

(B) Twr :

(C) wWéH

(D) @i

feffRmidamwadgmd as2

SR8 fvan Wi
(A) vaud

(B) & &=
(C) U7: s@goy
(D) EmEu

¥.53 %€ 9 <ia & Fwfo & R snavas

e

(A) fefs v
(B) el 4
(C) feim A
(D) e &

| u.s:&.-aﬁamaﬁlﬁmwaﬁ%—

(A) Teirdes §
(B) rsRrTmRERT H
(C) & &

(D) WS H

Qs

- Q.53.

Q.54.

®
(8

[y

Many children in our coimtry suffer
from “Kwashiorkar” This can be
prevented by g'ivlng children food
richin- |

Cafbbhydr_ates

Fats

(C) Proteins

(D) Minerals

Which of thé following function is
not done by kidney-

(A)
(B)
(€)
(D)

Respiration
Ultrafiltration
Reabsorption

Secretion

Which of the followihg vitamin is
essential for the f'orrmation of
bones and teeth-

(A) Vitamin ‘A’

(B) Vitamin ‘B’

(C) Vitamin ‘C’

(D) Vitamin ‘D’

Spiral chloroplast are present in-
‘Ulothrix_‘ | el

(8) Spirogyra
et

(8)

Fern

Cycas



H.55

.56

.57

.58

SFr=feRaa % @ o sl e gaen

¥ IuHIeH TE B
(A) I=1

B) foxmw

(C) Farer

(D) ™

W—-

(A) wUH (dvare)
(8) T

(C) Y&1® BIRBI

(D) 4w ,
|

Frfafaa 4 A fra o § voes

TUS T41 I &
(A) femes #
(B) T H
(C) e §
(D) fogamet

i
(A) =T
(B) Freir

(C) Hgan
(D) FarT wwe

Pty Y PR A A ey

FrfeiRea 3 & B veaRPa vy

Q.55.

Q.56.

Q.57.

Q.58.

&Y =

In a food chain which orie of the -
following is not a consumer-
(A) Rat

(B) Giraffe

©) Algae

(D) Cow
Which one of the .follow‘ing is not
present Iﬁ leaf-

(A)
(B)
(©)
D)

Phloem
Stomata
Gaurd qell

Lenticel

Which of the following animal
possess vertebral éolumn-

(A) Cockroach

(B) Hydra

(C) Octopus

(D) Lezard

Which of the following animal is
unicellular-

(A) Sponge

(B) Euglena

(C) Earthworm

(D) Starfish



¥.59 . ARYAr ¥aw Y f5 A EfEsse  Q.59. In Process of aerobic respiration

el g ¥

(A TP #
(B) o1& SEaaaRS A} url
(C) i AR P SReiiTEs 7

.60

".61

H.62.

(D) g

I -
(A) HIH]
(B) avw
©)

(D) =mE|

. PIATHIGAT (RITDI0T Tt ) ¥—

(A) YHIE G Hads
(B) W9&d Fdh

(C) 4T 9 WeRT 29 916 HaF

(D) 7a 9 was

D UH A & OIS 8], sHpT Ry Q.62

T
(A) T Ao SR S ®
(B) SHDI WX T Bl &

(C) =% ud vd ud wftrmi B ¥

(D) Z|&T T B FE Bl

Frfafea 43 Rl qren s wrdy - Q.60

Q.61.

i 15 -

the carbohydrates are broken into-

(A)
(B)
€

(D)

Glycogen
Carbon dioxide and water
Oxygen and corbondioxide

Glucose

In Which of the following Tap root

is found-

(A)
(B)
(€)

(D)

Maize
Mustard
Wheat

Grass

Collenchyma is a-

(A)
(B)
©

(D)

Photocynthetic tissue
Vascular tissue
Living and supporting tissue

Dead mechanichal tissue

Ginger is a stem not a root

because-

(A)
(B)
€
(D)

1t store food
It is bitler in taste
It contains node and internode

It is not green in colour



¥.63.

H.64

.65

.66

g ¥ weiren o) et Bl B
(A) TPa B WS BT
(B) Xawaw @ FRif e
(C) Tawi B WERA B
(D) 7B &1 {9 Sl

-RRefre < ¥ woil 31 wE w

-
(A) T
() TgH
(C) @ =1 yHr
(D) F<@ I

PR ¥ EE S -

(A) YT GIAYT &
(B) s AF &

(C) 99 SUYEd &
(D) WEF HYowo &

Prfafas ¥ ¥ fow wiE ¥

AT W10 B v T R
(A) sHRIBrEET

(B) wifewer

(C) ®a®

(D) AmxT

Q.63.

Q.64.

- (B)

Q.65.

Q.66.

Role of spieen in human being is-
(A)
(B)
(©)
(D)

To help the liver

To controli the blood pressure
To help the kidneys

To store the blood

The main source of energy in
ecosystem is-

(A) ATP

‘Glucose

(C) Sun Light
(D) Nucleic acid

in cells Ribosomes are the centre
for-
(A)
(B)
(€)
(D)

Photocynthesis
Kreb’s cycle
Fat metabolism

Protein synthesis

Rhizobium Bactarium belongs to
following group-

(A) Bryophyta

(B) Protista

©
(D)

Fungai

Monera



H.G7.ﬁﬁ%ﬁﬁﬁﬁﬂﬁﬂ@ﬁ:ﬁﬁ! Q.67. Which of the following is an

.68

H.69

H.70

fr=feaRes § @ 959 adeast  Q.70. Which of the following is a

Tfrg—

(A) e

(B) aﬁmm‘é:
(C) gy ufdr
(D) SR I

.U Y] @ & gof SifeRfievor §

T A T, e @ wem
. 9
(A) 36

(8) 38

(C) 40

(D) 42

T A F i 1 faier g

-
(A) T & AT JOREH &I_T
(B) HUSIY] & IMHR & GRI
(C) Y& & IMHR P GRI
(D) o & T R gRT

=

(A) &
(B) smH
(C) 7=
(D) s

Q.68.

Q.69.
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endocrine gland-
(A) Spleen

(B)
(C) Pituitary Giand
(D) ' All ihe above

Lymph gland

Number of ATP molecules
produced from complete oxidation
of one molecules of glucose are-
(A) 36
(B) 38
(C) 40
(D) 42

In Human generation sex is
determined by-

(A)
(8)
(C)
(©)

Sex chromosomes of mother
Size of ovum
Size of sperm

Sex chromosomes of father

Monocot-

(A) Rice (Paddy)
(B) Mango

(C) Pea
(D)

Pea

Banyan



H.71.

H.T2.

H.73

.74

H.75

FrforRea ¥} e S 8-

(A) RGaRT ¥8ell  — SaREAEW
(B) wHS — IS

(C) wieifther — AT

Q7.

(D) P (Efw) - SRl

FrafeRaa + ¥ frwa DIRfR
AT B T B &~

(A) ®RST

(B) wrEfgen

(C) #e®

(D) SURRH AN

. EHAIE &1 Heaqul 37a9d B

(A) IR (iren)
(B) ImAE™
(C) WeHx

D) fiw

.axmiﬂﬁm%—

(A) T&H TIRH
(B) TP 'MME
(C) & faefm
(D) T& ool yare

.%wmﬁm'ﬁm%—

(A) g S |

(B) Wi g &
C) ¥

(D) SRm €N

Q.72.

Q.73.

Q.74.

Q.75.
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Which one is incorrect pair-

(A) Star Fish - Echinodermata
(B) Spider - Arthropoda
(C) Jelly fish - Mollusca

(D) Taenia - Platyhelminthes

Cell wall of which one of these is
made up of cellulose-

(A)
(B)
(©)
(D)

Hydra
Hydrilla

Frog
all above

important elements of Haemogiobin
is-
(A)
(B)
(©)
(D)

Iron
lodine
Sulphor
Zinc

Thyroxin is-

(A) Anenzyme

(B) A Harmone

(C) A vitamin

(D) An excretory product

Cholera is transmitted by-
(A) Contaminated water
(B) Polluted Air

(C) Rats

(D) All above



